SakkZseni

Feladvanyok megoldasai

3.rész

3737 1.&f7+ DxI7T 2. Wxc6+ A8 3.9\ xfTH
3738 1.Bxf5+ gxf5 2. Wxf5+ Lh6 3. Wghit

3739 1. We6+ fxeb 2. £ xeb6+ Dxeb 3.0 xebH
3740 1. Wxb8+ Lxb8 2.Hd8+ &b7 3. Eb8#
3741 1. Wxg6+ hxgb 2. &xgb+ LeT 3. &cH#
3742 1.£f8+ &h5 2 Wxh5+ gxh5 3.Eh6+4

3743 1.Bxab+ bxab 2.8¢2+ Hcb 3. & xcb3F
3744 1.6 gxf6 2.%18 5 3.0 T4

3745 1. Wo8+ Hxpg8 2.6\xgb+ hxgb 3.EKh4+

3746 1. Wxo8+  Hxg8 2.d8W4+  WeR

3. Wol4H
3747 1.5e6+ fxeb 2.Exd8+ &f7 3.Ef1+

3748 1.Eab+ bxab 2. W6+ £d6 3. Wxd64:



